F1H xoitazrek,

1 1 1
(1) =5 — (~2) x 3 I
(3) (5 - %) x 15 (4) (5 x 3)% + (15 x 2)* x 10?
(5)%___2 (6) V2T + /3
(7) (VI8 —6)(3v2 + V6) (8) az!® = (qz)100

F2f HM4anArHAauBirbs, ArFEoTHiHY o, BEIE->THZES

bTRITZILLTE, 2Ok ZE, LTOMIZER &K

(1) a+b# 1 2% 5HEERD X,
(2) a+b#2 i BHREERD X,
(3) a+b#53 75 HRERD X,
(4)

B 3M xoFRHEX e HERE T,
(1) 2—z <3+«
3z+5y =13
(2)
Tc—y =95

(3) a2 — Tz +12=0
(4) 1—-2221

FTAR By =22 —31200T, UTOMWIZEZR X

(1) COBDZS 7 %>,
(2) z DfED —1 75 5 T THINT 3 & EDELOEEITN L S,
(3) EHH —1<2<2 DL ZOMBERD X,

a+ bW DI LHERP—FEREND, ZOLEDa+bDELHERERD X,



FH5f FEAKABCOHHD, ZAUCHETIMHOERE1THS, HohbLz Ok
3,

(1) O &8 BC 123\ Hi v BC %% P £ 5, OP 0EE 2R &,
(2) OC DEX%ERD X,
(3) AABC DEE% R &,

FOM AXAZ2024FE1H 1 HIHMTO LS oLz,

o IS HHBIN TREET 5,
o 1 H1HWBKITREZ 1HEILT, ZOFHLS MFHioHLD 1HZL ] T3,
o DM -T2DRB I LITT 5,

ZorE, MFoMIEZ K.

1
2
3

(1) 2024 F3HE D 2 22
(

(

(4
(

(

(

2 A1 HIZEAEBESL TIREZ T 5 Z 2 IR 5 D%

3 A 1 HIZIHAEIBZ TIREZ 52 Z L ITR 5D,

1 H 10 Ho 7 RIIG@EE CMEK. TREZ L 2 2Tk 5 0%
3 A 1 HORTRIITEE BB TREZ Lz 2 212725 D,
T 100 B H O BAZ TIRE 2 5 % DT H M H 22

WET 10000 [\ H OB, TRE % 5 2 DI A H

)
6
7

N N N N N N N

nB, A ZABKFHAZRETHEHEITTEZ25DL L, RAIKEIIEZ 2720, R
FEZNT IREDZLIRELTI VWD DE T E, T, BETOHEEITIZDRAITR T
WA EBDAERZ 2D T 5,



S 6 FE EEHR BER (BF —HEE)

£=1M

(3) z=3,4

(3) 3v3

(3) 61

(4) 55

(7) 5 A 20 H (141 HA)



